Substitution Steps

- I) choose a given equation to get a variable by itself; use inverse operations
- plug expression from #1 into other given equation use ()
- 3) Solve for variable using inverse operations

t) take number answer from step #3 & plug it into a given equation; use inverse operations to solve

5) write answer as an ordered pair (x, y)

given equations: 2x - 3y = -24x + y = 24

$$4x + y = 24$$

 $-4x$ $-4x$
 $y = -4x + 24$

$$2x - 3y = -2$$
 $2x - 3(-4x + 24) = -2$
Distribute

Combine like terms 2x + 12x - 72 = -2

$$2x - 3y = -2$$

$$2(5) - 3y = -2$$

$$10 - 3y = -2$$

$$-10 - 10$$

$$3y = -12$$

$$-3 - 3$$

$$y = 4$$

$$x = 5$$
 and $y = 4$ so ... $(5, 4)$

Substitution Steps

- given equations: 2x 3y = -24x + y = 24
- I) choose a given equation to get a variable by itself; use inverse operations
- 4x + y = 24y = -4x + 24
- 2) plug expression from #1 into other given equation use ()
- 2x 3y = -22x - 3(-4x + 24) = -2
- 3) Solve for variable using inverse operations
- Combine like terms (2x) + (2x) 72 = -214x - 72 = -2
- 4) take number answer from step #3 & plug it into a given equation; use inverse operations to solve
- 2x 3y = -22(5) - 3y = -210 - 3y = -243y = -12

5) write answer as an ordered pair (x, y)

x = 5 and y = 4 so ... (5, 4)

Substitution Steps

- given equations: 2x 3y = -24x + y = 24
- I) choose a given equation to get a variable by itself; use inverse operations
- y = -4x + 24
- 2) plug expression from #1 into other given equation use ()
- 2x 3y = -22x - 3(-4x + 24) = -2Distribute •

- 3) Solve for variable using inverse operations
- Combine like terms (2x) + 12x 72 = -214x - 72 = -2 + 72 +72
- 4) take number answer from step #3 & plug it into a given equation; use inverse operations to solve
- 2x 3y = -22(5) - 3y = -210 - 3y = -243y = -12

5) write answer as an ordered pair (x, y)

x = 5 and y = 4 so ... (5, 4)